Signal Expected limit [fb] Best aggregated  Signal yield (best  Expected limit [fb] (best
(full analysis) region aggregated region) aggregated region)

— 88,8 — bby?
PP 858 1 1.80 2b tight 18.8 3.84
(mg = 1700 GeV, Mzo = 0GeV)

— gg,§ — bbx?
PP 888 1 234 2b tight 10.0 498
(mg = 1000 GeV, nzy = 950 GeV)

— 85,8 — qad
PP = 88:8 = 9911 4.05 4 tight 27.4 451
(mz = 1600 GeV, M = 0GeV)

— 32,8 — qqxb
PP~ 868 = A 244 7j medium 34.1 281
(mg = 1000 GeV, nz = 850 GeV)

— 88,8 — ttx)
PP 86:8 = B 3.69 2b verytight 135 10.3
(mg = 1500 GeV, nzy = 0GeV)

— 88,8 — ttyd
PP~ 888 = A1 312 3b tight 18.6 595
(mz =900 GeV, My = 600 GeV)

ST R0
PP Al 186 2b medium 362 349
(my = 750 GeV, Mzo = 0GeV)

ST
PP & 79.5 2b medium 202 254
(m; = 600 GeV, mzy = 250 GeV)

ST R
PP %1 9236 4 medium 152 42345
(my = 250GeV, My = 150 GeV)

— bb,b — by?
PP g 11.5 2j tight 134 315
(m = 800GeV, mzy = 0GeV)

— bb,b — by?
PP %1 362 2b medium 265 573
(mg = 500GeV, My = 350 GeV)

-39, — 9 L +dr(,d,5,¢
PP =+ 89,4 — Xy, 4+ ar( ) 3.41 2 tight 9.48 5.96
(mg = 1400 GeV, Mgy = 0GeV)

— 43,9 — qx), 4 + qr(@,d,5,€
PP~ 444 at, G+ 4r(0,d,5,9) 208 7j tight 265 753

(g = 600 GeV, 1120 = 300 GeV)



